ATG GGG TTC AAA CTG AAA GGC ATG GCC CGG ATC AGC TGC CTC CCG AAT GGG CAATGG
TCC AATTTC CCG CCC AAG TGC ATC CGG GAATGC GCG ATG GTG TCG TCG TAG

ATG TTC CGC GAA ATC GGG GAA ATG ATG GAA GGC ATC GAA CGC TTC GCG AAC ACG ATC ATG
ATC CCC GAG CCG ACC ATC GAC GAG ATC ATG ATC ACG GCG ACG GAG TAG

AMP-Imitate

atgttccgcgaaatcggggaaatggegaacacgatcatgatccccgagecgaccatcgacgagatcatgatcacggegacggaga
ttcaccaccaccaccaccactag

ATGTATATCTCCTTGTIGTTC TTG GTT GTT GTT CTT GGG CGT GTC CCG ATA CTA GCA ACG GCC
CTGTGC CTG CCG ATT ACG AAATCACCA ACA CGC AGT GCG ATTTTG CGT ATT GAG ATT CGC
CCT CTG CGC GCC TAG TCT GTG CAG ACC GCC TCT ACG GCA AGA GGC CCG GAA CAAGCC
TGA AAA CAATGA AAACCG TAC CGC CTG TTC ACC GCATCG CCCTGTTGTTCA ACG GCA GCA
AGATCT ATG ACC GCG GCATCATCAGCG GCATCG GCAACTACC TGAGCAGCACGC GCG
CGT CTT GGG ACC TGTTTC TGG AAG AGG ATT TATC TCT GCC GCT TGA AAG GTATCG AGC GTT
GGC AAG GTGACG GGATCATCG CCG ACTTCG ACG ATC CGCTGATTG GCG AGG CGC TGG
CCG ATATCAAGTTGC CCG TGG TAG CGG TGG GTG GTT CTT ATC AGG ATG AGC GGG CCT ATC
CCAAAG GCATCC CGTACG TCG CGA CCG ACAATAACG CGCTGATCACCATGG CTT ACG
AGC ACTTGATCG AGG CCG GGT TGC AAC GGT TTG CCT GTT TCA GCC TGC CGG AGG CGC
AGG CCAACC GCT GGG CCC AGG AAC GCG AAAAGG CTTTTC TGC GATTGATGC AAC GGG
ACG GCT CGC ACG GCG AGG TCT ATC GCG GCATGG GCA CCA GCG CGC CGCTGT GGG ACA
GCG CCG TCG AAC AGTTGATCG CCT GGC TGC AAAGCC TGC CCAAGC CCATTIG GCATCA
TCG CGG TCAGTG ACG CCC GTG CCC GGC AGTTGC TGC AAG CCT GCC TGA CCG CCG GCA
TCG CCGTTC CGG AAC AGG TGG CGT TGATCG GCATCG ACAACG ACC CACTGACCC GCA
GCCTGACCC GGG TCC CGCTGAGTT CGG TGATTC AGG GCA CCG AAACCATGG GCC GCA
CCG CCG CGC AACTGC TGC ACC AGATGC TGC ACG GCA AAC CGT CAACGG GCG CGC ATT
TCCTGATCC CGC CCG AAG CGATCAACG TGC AGG TGT CGA GCTTGC ATC AAC CGT TGG
GCAACC CCTACGTGATGC AGG CGC TGC TGT TCATCC GCC AAT ATG CCT GTC AGG GCATCA
AGA CCG CGC AAGTGG CGG CCTATG TCG GTG TGT CGC GCT CCT CCC TGG AAT CGC ACT
TTC GCG CGG TGC GTG GTT GCA GCG TGC ATG ACG AGATTC TGC GTTTCA AAC TGG CGG
CGG CCA CTC GCG GAC TGG AAAAAACCG ACACAG CGATTG CGG ACG TTG CCC GCACGT
GCG GTT TCA AAT CCG CAC AGTACC TGC ACACGG TGTTTC GCC GGG AGT TCG GGT GTACGC
CCC GTG AAT ATC AGC AGG GCG CCC GAT AGC CGG CCA CTC AAAAGC GAT CCA GCC GAT
AGG GCTC

atgaaaaccgtaccgcctgttcaccgcatcg ccctgttgtt caacggcage aagatctatg accgeggeat,
catcagcggcatcggcaact acctgageag cacgegegeg tettgggacc tgtttctgga agaggatttt
ctctgeccget tgaaaggtat cgagegtigg caaggtgacg ggatcatcge cgacttecgac
gatccgetga ttggegagge getggecgat atcaagttge cegtggtage ggtgggtggt
tcttatcagg atgagcggge ctatcccaaa ggcatcccgt acgtcgegac cgacaataac




gcgctgatca ccatggcetta cgageacttg atcgaggecg ggttgcaacg gtttgectgt
ttcagcctge cggaggegea ggccaaccge tgggeccagg aacgecgaaaa ggettttctg
cgattgatgc aacgggacgg ctcgecacgge gaggtctate geggeatggg caccagegeg
ccgetgtggg acagegecgt cgaacagttg atcgectgge tgcaaagect geccaagecce
attggcatca tcgeggtcag tgacgcccgt gececggeagt tgctgecaage ctgectgacce
gccggcatcg cegttccgga acaggtggeg ttgatcggea tcgacaacga cccactgacce
cgcagcctga ccegggtecc getgagttcg gtgattcagg gcaccgaaac catgggeege
accgccgege aactgetgea ccagatgetg cacggcaaac cgtcaacggg cgegeattte
ctgatcccge ccgaagegat caacgtgeag gtgtcgagcet tgecatcaacc gttgggcaac
ccctacgtga tgcaggegct getgttcate cgecaatatg cetgtcaggg catcaagacc
scgcaagtgg cggectatgt cggtgtgteg cgetectecc tggaategea ctttecgegeg
stgcgtggtt gcagegtgea tgacgagatt ctgegtttca aactggegge ggeccactcege
ggactggaaa aaaccgacac agcgattgeg gacgttgecc geacgtgegg tttcaaatce
gcacagtacc tgcacacggt gtttcgecgg gagttcgggt gtacgecccg tgaatatcag]




